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Arithmetic of Exponents (Negative Exponents)

(−8) + 5 =(−2) (−7) − (−2) =(−1)

9 + 7 =(−2) 7 − 2 =2

(−2) − 5 =(−2) 7 − 10 =(−1)

5 + 2 =2 (−5) + 2 =2

(−6) − (−8) =(−1) (−8) − 3 =(−1)

1 − 1 =0 (−8) − (−2) =2

(−2) − 7 =(−2) (−7) − (−2) =2

(−2) + (−3) =(−1) (−6) − 3 =0

3 + 4 =2 (−6) − (−7) =2

2 − 3 =(−1) (−3) + 4 =(−1)
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Name: 　　　　　　　 Date: 　　　　　　 Score: 　　　

Arithmetic of Exponents (Negative Exponents)

(−8) + 5 = = 5(−2)

64
321

64
1

(−7) − (−2) = = 1(−1)

7
13

7
6

9 + 7 = = 7(−2)

81
568

81
1

7 − 2 = 472

(−2) − 5 = (− ) = (−4 )(−2)

4
19

4
3

7 − 10 = (− ) = (−9 )(−1)

7
69

7
6

5 + 2 = 272 (−5) + 2 = 272

(−6) − (−8) = = 7(−1)

6
47

6
5

(−8) − 3 = (− ) = (−3 )(−1)

8
25

8
1

1 − 1 = 00 (−8) − (−2) = 662

(−2) − 7 = (− ) = (−6 )(−2)

4
27

4
3

(−7) − (−2) = 512

(−2) + (−3) = (− ) = (−3 )(−1)

2
7

2
1

(−6) − 3 = (−2)0

3 + 4 = 132 (−6) − (−7) = 432

2 − 3 = (− ) = (−2 )(−1)

2
5

2
1

(−3) + 4 = = 3(−1)

3
11

3
2
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